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3 1 1
%4,77§n7§a75\/§(m+b)+c75
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V%3 A/ %22 + %12 2 ) N3/ %22 + %12

((a+z—s)%2—|—(b+y—t)%1)(2a+2:r—25)))

1
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(—5 13572 +%33/2)(—2s+2a)>

1
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26



HEN

Yot

%332 \/ %22 + %12

%02

(_§ %4 (—2s+2a)
2 %35/2

1
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+ 733/2) (—28+2a))
o

1% 25+2a)+ %2 )
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1 1
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2
<\/a2 F02\/ %22 + %12

\/%22+%12> x4 0(z?
1 1
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)
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)
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%4 ~ (a%4+b%3)a
VaZ £ 02\ %42 + %32 (a2 +b2)3/2\/ %4? + %32
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1 1
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A OO

0000000000 Maple DOOO0OO0DOO

##### Maple DO ODOOODO ###### Masayuki Taniguti

# J00000OO0OO0OO0OO0OOO0OOOOOOOOOO

# p=ac-c s=x0 t=y0 x=x1 y=yl c=x2 d=y2 e=x3 f=y3

# g=x4 h=y4 o=x5 v=y5

# 000

U:=k/2%(sqrt ((-x+p-s) **2+(t-y) #*2) -p) ¥*2
+1/2xk/2%(sqrt ((s+p/2-c) **2+(sqrt (3) /2*p+d—t) **2) -p) **2
+1/2xk/2%(sqrt ((s+p/2-e) **x2+(sqrt (3) /2*p-f+t) **2) -p) **2
+1/2%k/2% (sqrt ((p/2+g-x) **¥2+(sqrt (3) /2*p+h-y) **2) -p) **2
+1/2%k/2x (sqrt ((p/2+0-x) **2+(sqrt (3) /2%p-v+y) **2) —p) *x*2;

# 00000 (DODOOODOODOOoOoOOoOO)

q:=diff(U,s);

# 0000000000 O (Cooooo)

r:=taylor(q,s=0,2);

d:=0;

e:=0;

h:=0;

g:=0;

v:=0;

c:=0;

t:=0;

y:=0;

x:=0;

f:=0;

0:=0;

Z:i=r;

# 100000000000

readlib(coeftayl):

a:=coeftayl(z,s=0,1);

# 0000

b:=factor(a);
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+3kW(H;p_c)a(;«gm_t)z_p)
Y s e e A
o (¢<;p+g :
(

U :=

[\

2

,,u|,_.

1
q:= Ek (\/:1:2—2:rp+2acs+p2—2ps+s2+t2—2ty+y2—p)

(21‘—2p—|—25)/

1
\/:52—21‘p+2ms+p2—2ps+sz+t2—2ty+y2+zk

(\/(s+%p—c)2+(%\/gp+d_t)2_p> (25+p—2c)/
\/(s+;pc)2+(;\/§p+dt>2+ik
(\/(54-%]?—6)24_(%\/gp—f+t)2_p> (zs+p—ge)/
JEsde ) s G )

B lk(\/%fp)(2mf2p) 1
Az V%3 1 V72
k( %l—p) (p—2c) k( %3—p)
" V%1 >+( %3
1 1k (V%3 —p) (22-2p) 1 k(22 —2p)
3 <_§ %33/ %3 (20 -2p)
1/9(\/%—]3)
T2
1 1k (VEL=p) (P—2¢) 1 k(p—2c)
T3 <‘5 ATk PR R
1/9(\/%—]3)
T2 %2
1 1k (VE2=-p) (p—2¢) 1k(p-2e)
T3 <‘5 72 2 % (”_26)>”
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HEN

1 2 1 2
%1::(7p7c) +(7\/§p+d7t)

2 2

1 2 1 2
%2 = (Ep—e) +<5\/§p—f—|—t)

%3:=a> —2zp+t2+p>+y>—2ty

d:=0
e:=0
h:=0
g:=0
v:=0
c:=0
t:=0
y:=0
z:=0
f:=0
0:=0
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